
DATEDATE

DATEDATE

DATEDATE

APPROVED/RELEASED

DATECHKDBYCHANGE DESCRIPTIONSYM

REVISIONS DO NOT SCALE DRAWING

ACCORDANCE WITH LATEST ANSI Y14.5
DIMENSIONING & TOLERANCING IN

ACCORDANCE WITH LATEST ANSI B46.1
SURFACE TEXTURE TO BE IN

BREAK SHARP EDGES .03 MAX.
REMOVE ALL BURRS AND

SURFACE ROUGHNESS

.XXX  –

.XX   –
–.X    –

ANGULARDECIMALS

TOLERANCES

ALL DIMENSIONS ARE IN INCHES
UNLESS OTHERWISE SPECIFIED:

RESPONSIBLE ENGINEER

DESIGNER

CHECKED BY

DATEDRAWN BY

MATERIAL

LOG NUMBER

PROJECT MGR.

GP LEADER

DATECHIEF DESIGN ENGINEER

SCALE

SHEET OF

SIZE DRAWING NUMBER

TITLE

ADVANCED PHOTON SOURCE

THIS DRAWING IS THE PROPERTY OF

U
N

IV

ER S IT Y

O
A

CIHCFO

Y
R

O
T

AR

OBALLANOITAN
E

N
N

O
G

R
A

G

ARGONNE NATIONAL LABORATORY

PARTS LIST

ITEM DWG/PART NUMBER NOMENCLATURE OR DESCRIPTION MATERIAL / SPEC QTY

8 7 6 5 4 3 2 1

A

D

B

C

12345678

C

B

D

A
A1984700

P4105090506-230200-00

T6 OPTICAL TABLE
LOCATING SNAP PLATE

ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125
K. COSTELLO 8-8-94

1:1

D1 1

COSTELLO/BARRAZA

)( 6.50 [165.10]

)( 6.88 [174.63]

)(1.13 [28.82]

2X Ø .250 [6.35]
.256 [6.50]

1 2

3

4 5

11

6

7109

14

13

1 T6 SECURING BAR SEE DETAIL 1P4105090506-230201

2 T6 LOCATING BAR SEE DETAIL 1P4105090506-230202

3 T6 SNAP PLATE SEE DETAIL 1P4105090506-230203

4 T6 FASTENER BAR SEE DETAIL 1P4105090506-230204

5 T6 SPACER BAR SEE DETAIL 1P4105090506-230205

6 STEEL CONTROL BALL HANDLE STEEL 2   SB-1

7 TWO-PIECE SPHERICAL WASHER 303 SST 1 SSPW-5

9 10-24 X 1.50 HEX HEAD CAP SCREW SST 4COMMERCIAL STD

10 HELICAL SPRING LOCK WASHER #10 STD SST 6COMMERCIAL STD

11 FLAT WASHER .219 X .500 X .049 SST 6COMMERCIAL STD

12 10-24 HEX NUT SST 2COMMERCIAL STD

13 .63-11 X  2.50 HEX HEAD CAP SCREW SST 1COMMERCIAL STD

8

8 10-24 X 1.00 HEX HEAD CAP SCREW SST 2COMMERCIAL STD

14 PIN, SLOTTED SPRING, .25 X 1.00 STEEL 2COMMERCIAL STD

AA

9 11

10 12

10 11

SECTION A-A
SCALE: 1=1

SOURCE:1

REID TOOL SUPPLY CO.
2265 BLACK CREEK ROAD
MUSKEGON, MI
(800) 253-0421
FAX: (800) 438-1145

1

1

1. ALL DIMENSIONS SHOWN IN [ ] ARE MILLIMETERS

NOTE:

AND ARE FOR REFERENCE USE ONLY.


